
For further information contact KAON on 07 3180 1470 or info@kaon.com.au

F I T T I N G  I N S T R U C T I O N S  F O R

Fuel Tank Guard
S K U C O M P A T I B I L I T Y

KS0011 Toyota Prado 120

Included contents
Q T Y C O M P O N E N T Q T Y C O M P O N E N T

1 Fuel Tank Guard 6 M8x16 Flanged Bolts

1 Short Bracket (for the rear) 6 M8x25 Flanged Bolts

1 Medium Bracket (for the front) 6 M8 Flanged Nuts

1 Long Bracket (for the rear) 6 M8 DIN Washers

30 minutes / Half a beerTime



2

Bolt Torque
D I A M E T E R  ( mm) 5mm 6mm 8mm 10mm 12mm

N E W T O N - M E T R E S  ( Nm) 5 Nm 9 Nm 22 Nm 44 Nm 77 Nm

Let’s get to work. 

Preparation
1.	 Remove existing guard and clean all 

surfaces of debris and dirt.

2.	 Use the M8 bolts and nuts to 
attach the short and long size 
brackets to the rear of the guard 
and the medium size bracket 
(etched FTG120-04D) to the front of 
the guard, as shown.

2



3

Installation
1.	 Prepare six M8 bolts & washers 

by lubricating the threads using 
Copper Eze or similar lubricant.

2.	 Loosely install the fuel tank guard 
to the existing mounting points 
using the six M8 bolts.

3.	 Tighten all bolts, and you’re done! 

2

2



4

Disclaimer: The products sold by KAON should not be modified, and are for use only on the vehicles specifically stated. KAON will not be 
liable for any damages arising out of the use or misuse of it’s products. It is the customers responsibility to ensure the products are safely 
and properly used and installed. KAON consistently seeks to improve it’s products and reserves the right to make changes to any product. 

Local Knowledge & Assistance 
We know half the fun of building your dream 4x4 is getting your hands 
dirty. But we also know that sometimes, things don’t go to plan. If in the 
pursuit to build the ultimate setup you find yourself off-track, we’re here 
to help you get unstuck. 

For further information call 07 3180 1470 or email info@kaon.com.au


